O 09 A5 T L.

7 11
@E X 68, ®1_8 x 30

> £
1
> ®E: 21
3
68
7 7 X 119 2
@E 68 = /1;? ?—395
30
11 11 % 55
RIS
2 1
-©=39--18- =21=
Q-© 5 =




1
8

3®)3

1
@) 2§km
® 5= km

1
® 1§km

1
@ 4= km




-
o

z._,_o
oju

of
ol
— |

ol

=0
Tor

!

oa
=0
Tor
!
olJ

— |

oFgolu] ut sh o]

=
=

T 57

o}

= =
= ©

1 [e]
oA 1 T

CELRIRES:

;'(

a1z

t]

o

—_
fife)

d

.

ul

ofshe

= =
= ©

12 HH 54

Ao

(=
ot

A g




o7} A

Il ek 9 Ao] 58 74T

[e)
L2

A7) &3 6707 Eks U A

o)
L
i

2 F9E4 100

— ™

£o]

i

L2of 7122 YE =o] BE 100

&U71

m

2

r5

27 7

ul
KO

ol

>

7/

g54

3x3x3=27(7h)




[ Jtel 5 2.6, 88 3 WY Hof Hol 1Y AAES 4L
= o] AANSE A1t2 vHIE AQU7R (YRS B4 BB o H A
olojof g}
H-0-cH
3 2 .

© 15, @2 O35 @50 Slg
Fote 471 255 1 Fol ANER,

wohs ol 8 & ¥, YA Al 45, 2,6 2

4 2 oEss wew

9 32 256

— = — = = 1_

6=x8=—x8=—=5




9
— x21
14

©1

2—
@) 6><8

5
51—
6

.

ull

51% Ayt

1
4=
+32

1
3

IHE= 17




o] Lh Ut} o] ek oA

Lo =

ol Sl AL 1A 59 5

7.

B!

%
N

ot

o]l Lo

L

1
3

® 13

- L
®© 73

@)8

—L
24

® 5L
@ 5

M~

g
=




ol ot ] S = 2550 GOl AL, @, @, @ 9] Al Foll AL A5
Ut @ 50 8t 401 2 7@ 5o 8HY 49 =+ o 21, @ 5
5 4 -

Spg S AAY 2 QU @ F9 34 7 R A AL,

@xg:@x%l SIA=g=]
@:®xgx4

2 2
®+@:®+®X25:2550X<1_%)

2
®X35 = 2346

1
®x§_2346

138 5
X

1
@b = 690 3




@9l 7 2% 0l e 10Ut @9l % 07} ZoHE @9t O

2 4
®X5+®XB 70

2
@X§ =170
O=70+2x%x3 =105
O= 105 x— — 28

= X— =
15

1
@+ O = 105 + 28 = 133




10. 994l HolA AT $AZE AR AR 7He A2E 18km
AUtk Mol A EABA S A2l oA SHaztA] Az < ol
2, A AR Azl A AR Az S A,
= Aol A SRR o] A edutly 7t

D)4 km @ 6km ® 8km

@ 10km ® 12km

Ao A stw7tA o] Ag]7HEkm o] BE
oA =PI ] ARl 18 9 % 9l 6km U}, E oA
S A =272 2] A2]7}F 18 km 2 g o|B & 10km YUYt

wheba] EA gl A A7 o A
10 - 6 = 4(km) YUt}




